Height of my Friends

Name: Score:
\ My friends and I decided to measure our heights and make a bar
graph with this information. Use the following clues and statements
to complete the bar graph below. Use 1 feet = 12 inches.

Mark is 5 feet tall and John is 4 inches shorter than him. The ratio of Maria’s
height to that of John is 1 : 2. Peter’s 40% shorter than Mark and 25% shorter

than Jessy.
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Answers

My friends and I decided to measure our heights and make a bar
graph with this information. Use the following clues and statements
to complete the bar graph below. Use 1 feet = 12 inches.

Mark 1s 5 feet tall and John is 4 inches shorter than him. The ratio of Maria’s
height to that of John is 1 : 2. Peter’s 40% shorter than Mark and 25% shorter

than Jessy.
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